77 ///

7137 848
~-324 . / -

7.

6,254
_3‘ 026










25.

1 Solve the problem.

¢ Solve the pr
3(14-5) |

* ¥ S,
27 * * ¥ »_‘,- B3
11111 \

Solve the problem. % Solve the proble% "

%(4+15)+(14-8) (4+8)x (3 x6)
? /T /4 VAT







10.

11.

12.

13.

X2

14,

H6
X295

16.

X28







Solve the problem.

3 (14 - 5)

27.

Solve the problem. s
(4 + 15) + (14 - 8)

26.
Solve the problem.

5(9+ 12)

28, N

Solve the problem.

(4+8)x(3x6)




Name:

INTER COMPUTATION SCOOT
] 2 3 )
5, 6. 7 8.
q ) | 2
3. H. 5. 6.
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17 8. 9. 20.
2. 22. 23. 24.
25. 20. 27 28.
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Name:

My task is To complete:
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Answer Key

WINTER COMPUT
I 2
Q77
5 > 7 |

95 301 (19,128 (22,518

13. . 5. 6.

1272 | 3,886 | 1150 | 2,044
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Answer Key

WINTER COMPUTATION SCOOT CARD

[7

81

8.

107

9.

401

20.

786

2.

281

22.

693

23.

163

24.

637

25.

27

20.

105

27

28.

216
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